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Directions : What will come in place of the

question mark (?) in the following question?

3w : feferRaa % wy fog (2) Fram W

SATTT?

143 x 143 +145= 14
1) 11 2) 14 (3) 12 (4)10
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The cost price of 36 books is equal to the

selling price of 30 books. The gain per

centis :

36 TeRaTart skt eTTa go 30 feraTeti &6
forshar ged. o STeR g, At Id9rd & [T
|

y
(a) 20%  (b) 16 %

y
(c) 18% (d) 82-%
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The simple interest on a certain sum at 5%

per annum for 3 years and 4 years differ by

Rs. 42. The sum is :
foret ST WR 5% ATk ST T XA 3 It

3T 4 T W UTH FTLIRUT SATAT W 42 T 3T
g g (9T FATU?

(a) Rs.210 (b) Rs. 280

(¢) Rs. 750  (d) Rs. 840
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Ifa:b=7:9andb:c=5:7, then
whatis a: ¢
zlﬁ{a:b=7:9\?ﬁ'{b:c=5:7,?|>fa:
¢ FIT BRTT?

@ 5:9 B)3:5

¢)7:21 (d)7:15
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Four numbers are in the ratio
1:2:3: 4. Their average is 16. The

sum of the first and fourth

number is equal to:

AR EEATY 1 : 2 : 3: 4 AT H
21 IR ITET 16 B Y UZeAT 3R
Tt TEITST hT AW AT BT
(a) 15 (b) 38

(c) 32 (d) 80
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The radius of a circular wheel is

1.75m. The number of revolutions

that it will make in travelling 11 km

| )

forelt IR ufear <t oA 1.75
g | 11 Tt T g 79 o | ot
foRram TRt T u=T?

(a) 1000 (6)10,000

() 100 (d) 10
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The area of a circle is increased by
22 cm, its radius is increased by
lcm The original radius of the
circle is

afe fordt o st B &6 1 9
FEET WU dl SURT UAFHA 22
gt ag ST g1 9w sl Sedfdeh
ES2 LG T4

(a) 6 cm (b)3cm

(¢) 3.2 cm (d) 3.5 cm
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Two inlet taps x and y can fill a tank in 36

minutes and 60 minutes respectively. Find
the time taken by both the taps together to
fill 1/6th of the tank?

a‘ruéﬁsmumx 3ﬁ'{ymz 36 e 3T
60 T2 H Ueh Sk il Tehd B &oh T 1/6 I

A o ToT0 ST aTgat ST freTrent ot
QU AT hINTU|
(A) 4 minutes 3 3% minutes

| |
(@) 45 minutes 1)) 55 minutes
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P invests Rs. 12,000 for X months Whle
Q invests Rs. 16,000 for 9 months in a
scheme. The profit share of Q is Rs.
12,000 out of total profit of Rs. 21,000.
Then find the value of X?
Th ST H P, 12,000 TG kT 9T X
A o T 3T § Sdier Q, 16,000 TUX
T 9T 9 wE & U wEar 21 21,000
A & HeT AT T J Q T ATHII 12,000
U 1 aT X T T T hiler|
(A) 6 months (B) 9 months
(C) 8 months (D) 7 months
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A and B can do a piece of work in 6 days and 8 days

respectively. If they are working alternatively then in
how many days total work be completed if B starts the

work first?

A 3TR B foret =l &l shuoT: 6 R g oA
U S Fehd 8| T8 hTA H Tehick 3l § T
Al T fehad faat @ 9@ gnm Al B 9 &
TR fRaT B2

(A) 7

(B) 6

(C) 5

(D) 7.5

11
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A man covers the journey from a statlon
to B at a uniform speed of 20 km/hr. and
returns to A with a uniform speed of 30
km/hr. His average speed for the whole
journey is
Uch STTEHT TIT A § B ek 20 TRHAT /
§eT hl Uch THTT AT H ITAT hidl &
3R 30 TerHT / €T <kl Uek | TTd <k
A A W ATIH AledT gl I I 6
TeTU SHhRT 7T d ATA & —
1. 25 2.24

3.32.5 4. 40
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A goods train is 250m long and moving at -
speed of 54 km/h. A man is sitting in a
passenger train which is moving in same
direction with a speed of 1.8 km/hr. In how
many seconds the goods train crosses the
man sitting in the passenger train ?
Uk UTERTTEST 250 Hiet Tal § 3TN 54 TRHT / ®eT
Shl AT | TAAT gl Ueh STTEHT Ueh THS ¢ H
3T ST 18 TRHET / €T <Rl oTed | 36T Ty o
AT & TET Bl AT, AT 3 W &S ATeH Y i
fehdd Hehe | U hidTl 27

1.20 2.25 3.16 4.18




A sum is given on simple interest for 3
years at 2%. If the sum is given on 5%
rate then interest will increase by 1800
Rs. Find the sum.

Uek (9T 3 T ok (oTU ATENI0T

SITST WX 2% hi &Y UX =T 8| TS
TTIT 5% hl 2 IX 21 ATT, a1 AT
1800 TUI © ¢ ATUT | [T T
ShTTeTa |
L 30000 2. 20000

3. 2000 4. 6000
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On increasing the radius of a circle by

10%, the percentage increase in the
circumference ?

T h TSAT Rl 10% TSTET SATdT & af
30k URfer / fohd Tiavrd <ht i
'éllil?

1. 65% 2. 20% 3.
44°%, 4. 80%




An article is marked up 40% hlgher
than CP, but it was sold on X%
discount. The shopkeeper thus gains
12%. What should be value of x ?

U 9% Sl KT Hed h qoq T H 40%
arterer farfga forar mam 2, <ifehT 38 X %
YE T Sl AT ATl FhER i 38 TR
12% AT BraT 81 X < TATH U T BT
TRy ?

(a) 10 (b) 14.4

(c) 20 (d) 15




Find the volume of a cube
whose diagonal is 8\/3 cm.

8./3 THT farehuT 9T Ueh
g 3TA 3T Shi T |

1. 64 2.512

3.366 4.216
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If a boat goes 100 km downstream in

10 hours and 75 km upstream in 15
hours, then the speed of stream is
gfe ek AT 10 e H gy iy Revw &
100 fRHT. TreTdt T T 9T & Toeg
15 guet O 75 ToRHT. Tl B, ar &RT
T =Ire feRat 22
(1) 2 km/hr. (2) 3 km/hr.

(3)2.5 km/hr. (4) 5 km/hr

18
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The average of 7
consecutive numbers is
37. Find the product of
smallest and largest

number
7 SR SEAT3TT ohT 37T 37 2l
T BIST aUT TS HEAT

N

‘\lUI"ILh NIGECAIS R

1. 1240 2. 1341
3. 1542 4. 1360
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276 + J157 +/140 + V16 =2
\
1)17
2)289
3)361
419




®

Find the number of

diagonal in the hexagonal ?

YR | TIeRUTl shi H&AT
AT ShifeTe?
1)9 2) 12

3)5 INE




A can do a piece of work in 20 days
and B in 15 days. With the help of
C, they finish the work in 5 days. C

can alone do the work in

A et s Rt 20 Rr A s ARt @
3R B, 15 foT # =T Tehat 81 C T
TEIaT ¥ 9 5 o ¥ & 9uTT o
Ad Bl C 3TheT 3T HIH hi fohad
fe o e

(A) Sdays (B) 6 days

(C)10 days (D)12 days
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In an examination, 92% of the

students passed and 480 students
failed. If so, how many students
appeared in the examination?

Tk TETH , 92% BT UTH FY AR 480
ST Wel §UI 38 TreT | feha BT
A A 2

(a) 5000 (b) 6200 (c) 6000 (d) 5800
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In a school ratio of number of boys and
girls is 4 : 1. 75% of Boys and 70% of
girls got scholarship. Find the number

of students who did not get any
scholarship.

Ueh TTamea 0 &Seh 3R ISRl @l
FIUTT 4 : 1 Bl 75% Sk AR 70%
FISIRAT hi BTAAT (Mt &, a1 0 fehed
Tea ¢ e st amw T fiet
1)26% 2)30% 3)40% 4)S0%
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The speed of a car is 36 km/h.
much time (in minutes) will a bus
traveling at one-fifth of the speed of
the car take to cover a distance of 900

m?

TUeh R ohi T 36 TeRHi/eeT Bl R Al
Tt ok Ui AT § ITAT i Tl Ueh
€ <kl 900 Wit T g aq HE 0
TeraT TwT

2)8.5 b)10.5 ¢)75  d)5.5

25
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If X:Y=13:12 and X-Y =2, then what is
value of 2X +3Y?

T X:Y=13:12 3R X-Y = 2, a1 2X +3Y &7
T T 82

a) 144 b) 124 ¢) 120 d) 136

26
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A number is first increased by 40% and
then it is increased by 30%. What is
the net percentage increase?

Uch HEAT H Ugel 40% oI Jig ohr
ST & 3R T 38 30% &1 gig
T AT &1 g IfAAd ghg = &2
a) 70%

b)96%  c) 82% d) 72%

27
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A trader marked up his articles
25% more than the cost price. If
he offered a discount of 10%,
then what will be his profit
percentage?

Tch TIMURT & 3T TEG3M Bl
hd Hed 8 25% 3D zm%m
RpaT| IR a8 10% hT Fc adl
S, ol 3HAT oITH gfaerd o
gITT?

a) 25% b) 10%

c) 37.5% d) 12.5% i




If the selling price of an
article is 25% of its cost
price, then what will be
the loss percentage?

I fopdl a&g &1 Tashd
Hed 38k g Hed Bl
25y% ¥ A i urderd
T BIIM?

a) 75% b)50%

c) 60% d) 25%

29




480 is invested at simple mterest
It becomes 520 after 20 months.
What is the interest rate per

annum?

480 HTYRUT TS W ﬁérar
fopam STaT &1 20 FAA dIC Jg
520 & oidl ¢l Ufd v arat
ey AT &7

a)d% b)8% c)6% d) 5%

30
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The ratio of the number of hens to the number

goats on farm A is 5 : 4 and that on farm B is §
: 7. What could be the ratio of the total number
of hens to the total number of goats in farms A
and B taken together?

W A H HATAT hY HEAT hT TRl shl &A1 8
FTATA S5 : 4T FARETH BU 5 : 781 ®TH A 3R
B H QRIAT shY Shet HEAT o1 TR {1 hl het
HEAT | STUTA T &Y Tehell 82

SSC MTS 05/07/2022 (Shift- 1)
a)3:2(b)1:2(c)9:11(d)7:11

31




{4 3,
¥ 3
A3 ~

B o N 3
N

How many numbers are
there between 200 and
400 that are divisible by
both 6 and 5?

200 37X 400 & S
UEr fhdel I&II0 &

ST 6 3T 5 i @
faaTrsT &7
a) 3 (b) 6

(c) 7 (d) 5
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The profit earned on selling a bike fo
Rs.68,250 is the same as the loss
incurred on selling the bike for Rs.
47,250. Find the cost price of the bike.
Uk T3k ohl 68,250 TUA H I W 3TTd
T IAAT 21 2 Tt aIrgen &l 47,250 TUX
H 9O W g8 BT oh S{Te 8| J15eh ol 3hd
Hed AT hiTul

SSC MTS 07/07/2022 (Shift- 3)

(a) Rs.57,250 (b) Rs.57,375 (¢) Rs.57,500
(d) Rs.57,750




®

(0.064)123 + 0.16%7 x 0.434 x0.4%° = (0. 4)

SSC MTS 08/07/2022 (Shift- 2)

(a) 350 (b) 320 (c) 338 (d) 341




FTEeh STTUR T Tk T 80 VT AT T
% iR forTfire =t e 16000 A B)
SSC MTS 08/07/2022 (Shift- 1)
(A)45cm(b) 7.5cm (¢) 22 ecm (d) 2.5

cm
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The difference between the simple interest an
the compound interest at the same rate for
Rs.32,000 for 2 year is Rs.80. What is the rate of
interest, if, in the case of compound interest,
interest is compounded annually?

2 99 ok 71U 32,000 T o U &Y UL ATER0T
ST IR ThlTeg, SATS oh i<l T 3Ta¥ 80 TUA |
ST shl S T 2, Al TAshdl (g, sATST oh ATHA H,
ST ATk €T | TATNTA BT 82

(a) 8% per annum (b) 2% per annum

(¢) 5% per annum (d) 12 % per annum
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What is the greatest number
which, on dividing 342 and 480,
leaves remainders of 6 and 4
respectively?

TE IS A TS HEAT R T B
Ta® 342 3T 480 T AFT A W
SHEST: 6 3T 4 I ST 32

SSC MTS 11/07/2022 (Shift- 1)
(a)14 (b)4 (¢) 7 (d) 28




The perimeter of a rectangle is 80

cm and its area is 375 sq.cm.
What is the difference between
the length and the breadth of the

rectangle?

Ueh 7T hi TRILT 80 THT § 3R

THRT YTH 375 T GHT B 3T
<hl TS TR AISTs | T X 82

(aA) 12 cm (b) 20 cm

(¢) 10 cm (d) 16 cm
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A train can cross a 1200- metre-
long bridge completely in 16
seconds. It can cross a 1600-
metres-long bridge completely
in 20 seconds. What is the speed
of the train?

T ¢ 1200 Hel e et it 16
ﬁmﬁuﬂwﬁwwaﬁ%l
JZ 1600 nﬁaaﬁwaﬁ 20 ke
¥ Ot T A IR R ARl Bl S
ohY T T B2

(a) 360 km/h (b) 450 km/h (c)
450 km/h (d) 270 km/h




The capacity of tap A is 40% more
than tap B, if B can fill a tank in 35
minutes, then in what time A can

fill it —
T A Al &7HAT ToT B | 40% 371reh

z ate B feret Zehl ot 35 Taae § @
HhdT g df TdTeIT TeT A 3H TehdH
T H 9 GehdT & —

I. 10 min 2.12.5 min

3. 15 min 4. 25 min




Find the remainder when 237O
is divided by 24.
gie 2370 &Y 24 O AT

fepar STeT % al AUHS I
OdT oI9Tq

a)76

b)75

c)1

d)78
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The HCF and LCM of two numbers

are 12 and 72. Ratio of two numbers

is 2:3. Then find the larger number.
&Y TeArell & HCF 3R LCM $husT:
12 3R 72 ¥\ 31 HTATAT T ST 2:3
B TR e ae

a)24

b)36

c)40

d)30
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The curved surface area and the height 0 a
right circular cylinder are 660cm” and 10

cm respectively. Find its diameter (in cm).

Teh Sidl It et ShT sk TSI Aol 3R
FITS SHAIT: 660 THI? 3T 10 THT B THAHT
=T (UHT W) 31T <hitsTu)

A] 14

B] 10.5
C] 21
D] 17.5
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The price of sugar is reduced by
20%. Now a person can buy 500 g
more sugar for Rs 60. The new
price of the sugar per kilogram
was

AT hr HAT 20% B &
ST &1 379 Uh gfh 60 TUYA
H 500 UTH 3Tk AT TWlg
HhdT &l AT BT AT HeA
ufa TohollamaT T

A)12 b)24 ¢)30

d)36




7+2-[30f7+4+{2+5x25+8)+~(5+2)}]=2?
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A can complete a piece of work in 18
days, B in 20 days and C in 30 days. B

and C together start the work and are to

leave after 2 days. The time taken by A
alone to complete the remaining work ?
AtedE@wl 18 fGaiw,B20 feaiw
AR C 30 Tt & Qv SR Akat gl B 3R
CTETREFATERAE AN 2 A aE
T BIE T §) 99 HE B O B 36 o
TRt A ST ToTam T awer?
(a) 10 days (b) 12 days (c) 15 days

(d) 16 days
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To complete a work, A takes
50% more time than B. If
together they take 18 days to
complete the work, how
much time shall B take to do
it?

Teh Y dl I P & Tow, A, B
q 50% 3HAYh FAY ofdl &l I
d Uh HIY HA Bl QI P A
18 f&d ofd &, B 38 QU
A H Thdedl FHAT M2

(a) 30 days (b) 35 days
(c) 40 days (d) 45 days
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Which number has to
subtracted from both
part of ratio 11 : 15 so
that iIs become 2 : 3-

11:15 & 3Jaid & el
HIT A § o9 T&Ir &
gclar & difieh 2:3 @l
1Y
(A) 2 (B) 3

(C) 4 (D) 5
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The mean of 20 numbers is 55. If
45 & 30 are removed then
what 1s the new mean of
remaining numbers

20 TEI3T &1 AT 55 &l IS
45 3R 30 @I ger f&ar v ar
AY FEITHT bl AT ATET &1
SIa?

(A) 65.1 (B) 65.3
(C) 56.90 (D) 56
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If Rs. 126.50 is divided among A,B and
C in theratio of 2 :5: 4. The share
of B exceeds that of A by :

Ife T, 126.50 A AB 3 C
& drg 2:5:4 & FJUd A
faafaa ear Srar &1 B
T ocar A & RRES A
fohaar 31196 g

(A) Rs. 36.50 (B)Rs.
35.50 (C) Rs. 34.50 (D)
Rs. 33.50




\4 ATLIC
MATHS

A dealer sold % th of his articles at a gain of 24% and the remaining at the cost

price. Percentage of gain in the whole transaction is :
Teh SHth SEAAT BT A1 ATATS AT 24 % o W T SAT § AR T §Y TEAT T
T Hed U STAT § , A7 TEGSAT BT ATH TTA9Td 7T Rl :

(A)15  (B) 18 (C) 24 (D) 25




e ——

A saves Rs.25 while buying an
article due to a discount coupon
of 20%. Find the amount he has
to pay without coupon.

A, 20% % Remrde o 3w

= ('S 25 S=Tar 31 98
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An amount becomes 8/5 times of the .
original sum in 6 years at a rate of
simple interest. What will be the
compound interest of Rs. 12000 after 3
years at the same rate?

PIS Y, fRdl & W 69 &
JIYROT ITT & THTd AIRTHG A
T 8/5% STl & | 12000%. U 3&T
TSl X ¥ 39V &l Tshgig AT
T EIITN?

A) Rs. 2260 B) Rs. 3320

C) Rs. 3972 D) Rs. 6540




Q. A train covers a distance between

station A and station B in 45 minutes. If
the speed of the train is reduced by 5
km per hr, then the same distance is
covered in 48 minutes. The distance

between stations A and B is

Teh YOTTTTET A qAT B TIMT o ofter sl g
45 THAET W T Thdl g IS 3 LTS shl
Tifer & 5 feRHiy/eeT it et SR ST ST AT
2t T 48 foeh § a7 et 31 99T, A
AT B I o sfter ot it fomart 22

(a) 60 km (b) 64 km

(¢) 80 km (d) 55 km
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afE 7a5b642 HEAT 9 I fraTeT A
v (a+b) ST TAAH AT T hHITATY
If 7a5b642 is divisible by 9, find
the minimum value of (a + b).

A)1
B) 2
C)3
D)5
E) None of these
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A 1 5 TS 3T, B HY 15 THROTT o %
FOR T 3T B <kt 10 Tfd9ra 31T C &% 20%
T &% TR 21 afE C hY 3= 2000 TG 3
AT A ST et AT TeRaT gt

5% of income of A is equal to 15% of

income of B and 10% of income of B is
equal to 20% of income of C. If the income
of C is Rs. 2000, then the income of A :

a. 6000

b. 9000

c. 12000

d. 18000




2= I MISSION SSC 2023 SIIVTN TR

farerr 3 webTe 3% 118 Rerehy v shwT: % 30 / Ao, T 26 /
Rt 7o 28 / et wftear & Ry wew @1 a9 20
forett 31 o T TR F T fermar @ o fasror @ § 35
forett wr a=raT 31 foma i1 e ufaera FiTe shifetu)

Vinay bought 20 kgs of each three types of wheat at
Rs.30, Rs.26 and Rs.28 respectively. He mixed all the
three varieties and sold the mixture at Rs.35/kg. What is

the profit percentage made by Vinay?
A) 20%
B) 25%
C) 28%
D) 32%
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3aﬁqﬁ5mw‘réaqmwaﬁ3ﬁwmzo
Y off| Ueh ool hl S=0 shl IoTg | AT INER
<hl TET 3T 19% TW Bl T chl TAH AT
HTE?

Three years ago, the average age of a family
of five members was 20 years. Due to the
birth of a new child, the average age is 19%
years today. The present age of the child is:

A) 1% years B) 2 years

C) 3 years D) 2% years







